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Homework - Worksheet
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X Try This
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Find the mass of copper produced if 14.00 g of aluminum reacts with
copper (II) sulfate.
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Worksheet

1) 4Zn_ + S = NS

(s) 8(s) (s)

2) AL, = A +O0

273(s) 2(9)

3) CHy *+ O,y = CO,, + HO

3" '8() 2(9) 27(9)

4) NaCl(aq + Pb(NO,) = NaNO3(aq) + PbCIZ(S)

) 2(aq)

5) Al + H, SO = H,, *+ AlLSO,),.,

(s) 2 4(aq)

6) KOH(aq * Cu(NO3)2(aQ) = KNO3(aC1) * CU(OH)Z(S)

)
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120. mL of water is used to dilute 300.mL
of a 0.450M solution. What is the
solution's new concentration?

v - 3co.mL v, -ve
F > 9.450 M\
gpr gzo- - (300mOks0M) = (420 .~L) Ce
G (+ - (BomO4soM)
(po.m0)
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Calculate the concentration of a solution in
which 45.0g of NaCl is dissolved in 1.80L

of solution.
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